@ AW (10D + °D) +124500 (3\g + °g)],_92 +,_9(1\y + °F) +—j:— = M 4 Aaf VA — df

PATS (D + °0) + 24500 (1\g + °g)],_27 = “Ufi — (u)SOD;_aif = (3)46
@ G-20\ + ) = M = ,_aif = (1)46
D 5o

> v 4 A 3 A
‘J_':D (1,\)509;_911 : ?7911 +4=4+ “—SO%T\J_:;“ =) +3,500, 914 = ()b

@ .“q:\iz‘L{:oZO+JA+A""'<:°=in+ﬁ—\+ufi

“H{F P | geees p

@ “((2 ur)uts Ao + (2up)sod \0) 2= o4 \Vibo = fi =
Q (2 up)urs Jg= (gu[)u;sw”a =ZTUS, 9= Afi ‘(pup)soo 4= (;zu[)so:)mua =T80D, 3= \i e
TUIS 9 F THOD 4,9 = g0 49 = ;9 =
() t1Fa=se=o=0tiy— ue= 0= (0t
¥ s

( r@ AT ‘o = (2)fig + (2) i) — (2) fi =11 =2

X o aree:

’@ D=2Ufi—AUST ¢= o = (ZU[fi — AWST)p <= o = fip(zu] — fiso0 T) + :rp(% — fiuis)

@ ‘i = ﬁ11[9 — ﬁP%IQ = ﬁp(ﬁ.)yfa = (ﬁ,)?’)’ ——

fi T .
\ fi_w i - A hor zu;  fisoo N \  fius n

fi
+ Asoo — Auis ~ Fso Py

7 A

=

\] S L FHT g 10; o




